2) 


CS =  ___________
DS = ___________


SS =  ___________
ES = ___________


IP =  100_________  (Rest depends on particular machine)
3) 
CS:IP=CS*10h+100h
4) 

   (a)  CS:100          B8 1200                       

 MOV  AX, 12
   (b)  CS: _103_____   __05 4600________             ADD  AX, 46  


   (c)  CS: _106_____   __05 6445________             ADD AX, 4564
   (d)  CS: _109_____   __2D 3012________            SUB AX, 1230


   (e)  CS: _10C_____   __2B 06 3012________       SUB AX, [1230]


5) 
16  (or 10h )
6) 
CS:100 + 10h = 110h (or CS:10C + 4 = 110h)
7) 
CS:IP
_B8_
_12_
_00_
_05_
_46_
_00_
_05_
_64_


_45_
_2D_
_30_
_12_
_2B
_06_
_30_
_12_

8) 

· What is the opcode for MOV ?
_____B8_________
· What is the opcode for ADD ?
_____05_________
· What is the opcode for SUB ?
_____2D OR 2B ! _________
 9) 

Because the destination is a 16-bit register, so the immediate value to be loaded must be 16-bit (2 bytes) long, and 1 byte for opcode (MOV or ADD) and destination operand (accumulator AX).

10) 
Answer depends on CS value:


DS:1230= CS:110h


DS = (( CS*10h + 110h ) – 1230h) / 10h

DS = ______________



11) 

DS:1230 = ________45FDh________


  338Ch

- ED8Fh


   45FDh
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